| Efficiency vs Dxy |
.02
X

<N S T S A S S
LR e I S
< S R R R T A T
e e e e

Q) - H H H H N N N N N
(OIS R RS L S S S
'-6 - . . . . . . . . .

S S s e e

e
=
000
D
0002 B

O_IIII:IIII:IIII:IIII:IIII:IIII:IIII:IIII:IIII:IIII
4

1.

Ratio

S T e

RS ST VOO SRR SOV JRUSO S UTO S:
—25-20-15-10 =5 0 5 10 15 20 25
TP dxy (cm)

—=— DQM_V0001_R000000001__Global _mkFitbase RECO

| Efficiency vs Dz |

—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__RECO

10.05 — T
@045— --------- oo e oo e
ok o
- 90 S W
9% S T
0,025 4t
s 1 Lo S I S
T S R

0.0 b

iy HW" “““ ==

0
4

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


